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If we increase the threshold we will predict Less points

as positive Thus we should expect that if we predict

as positive it's probably positive since we are increasing

the barrier to entry as you said in OH Thus the

pryings Mathematically you can think of this

as TP increasing and FP decreasing



Similarly when the threshold increases we should

expect that some points that we predict as negative

are actually positive since the barrier to entry for

a positive prediction is high Thus recails

Mathematically you can think of this as FN increasing

by more than TP

Putting this together we can see that there is some

tradeoff between precisionand recall But remember that

precision is not a function of recall andvice versa

Both precision and recall are functions of the threshold

Notes what I've written is the expuntedrelationship

between precision and recall the assumption here is

that the classifier in question is actually sensitive
to

the threshold If the classifier's prediction's don't

change as the threshold changes then the precisionand

recall are not affectedby the threshold changing


